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1 3
@ﬁﬁﬁA{s7}ﬁﬁﬂu@ﬁﬁﬁéﬁD#ﬁ%*%ﬂﬁk%ﬁﬁ@ﬁ%%imo

oe

By typing, one enters a matrix in Command Window. Need to note that

oe

"," is used to separate elements in same row, and ";" is used to

oe

distinguish different rows.
(ERBERAE A 2 & M AGERE . THEVER: Er, "RERITACER, S
I3 B FERERIAT)
>> A=[1,3;5,7]
A =
1 3
5 7
Use "space" key to separate different elements in same row, and

o°

o

oe

oe

use "enter" key to distinguish different rows.

(B "space" XA FATHIARICE, Hid "enter" 2 X A MI4T)

o

>> A=[1 3
5 7]
A =
1 3
5 7

oe

In terms of a matrix A, by defining a specific element to generate

o°

a 3-by-5 matrix as B.

CGETHRE A, e R E JCE 77 E 3x5 FHFERI N B)
>> A(3,5)=0

oe

A =
1 0 0 0
5 7 0 0 0
0 0 0 0
>> B=A
B =
1 3 0 0 0
7 0 0
0 0 0 0

T

(#1221 G Direr FaFF, MARBEARE, Wir:

S
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6 2 3 13
5 11 10 8
19 7 6 12
4 14 15 1

EXAMP02002

S Type all elements of matrix A directly in Command window.

(FEfr 4 6 1 B NFEBE A (BT TCHR)
>>A=[16,2,3,13;5,11,10,8;9,7,6,12;4,14,15,1]

oe

A =
16 2 3 13
5 11 10 8
9 7 6 12
4 14 15 1

% Create a 4*4 magic matrix by "magic".
s ({EBRH  magic" B —A 4x4 BEARRE)

>> B=magic (4)

A =
16 2 3 13
5 11 10 8
9 7 6 12
4 14 15 1

212 SEMEERGBS
1. £F55%
EHPERBHIAS LR 2.1,

* 2.1 zeros &KE

& % W& S W
zeros PR LA 0 FE zeros(m, n, p, ") LA mxmxpxen 94 4L
zeros(n) PER LA mxn (19 AR zeros(size(A)) PR L AR A IR S A S i
zeros(m, n) PR LA mxn (04 H

(51231  GUEJLAEFAFE.

EXAMP02003

A LA BT HEE.

Clear Command Window.

S (EBR@E M)

>>clc

% Clear variables in workspace.
s (HBRLAEFR A )

>> clear

oe

% Create a 3-by-3 matrix containing random values drawn
% from a uniform distribution on the unit interval by



F2%F M. KM HFiEH «23 .

% "rand".
S (fEBhERE " rand" Gl —A> 3x3 ATEARE)
>> A=rand (3)
A =
0.8147 0.9134 0.2785
0.9058 0.6324 0.5469
0.1270 0.0975 0.9575
% Create a scalar 0 by "zeros".
S (W zeros" Bl N EFrE)
>> zerol=zeros
zerol =
0
% Create a 2-by-2 matrix of zeros.
S (B 22 MRTRERE)

>> zero2=zeros (2)

Zero2 =
0 0
0 0

% Create a 2-by-3 matrix of zeros.
S (B 2x3 MRTRERE)

>> zero23=zeros (2, 3)

zZero23 =
0 0 0
0 0 0

% Create a 3-by-5-by-2 array of zeros.
S (B 3x5x2 EMATHA)

>> zero352=zeros(3,5,2)

zero352(:,:,1) =

0 0 0 0 0
0 0 0 0 0
0 0 0 0 0

zero352(:,:,2) =

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0
% Create a same size as A of zeros.
S (BUEE—ASRIAERE A FAT RS0 5000 4 22 R0 )

>> zeroA=zeros (size (A))

zeroA =
0 0 0
0 0 0
0 0 0
17 3]1R

FEGR SREFIN, 385 TR BA TR B A H e SO /0, D XK 2 A5 g
HREPIEAT A LI T

2. & 146
4 1 FERE R IR S MR 2.2,
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% 2.2 ones {#

B # i I B’ & i I
ones AR L AR E ones(m, n, p, ***) PERE LA mxmxpx-- {142 1 34
ones(n) R 1A mxn 194 1 SERE ones(size(A)) ARG T ANFRERE A R R/N4 1 SR
ones(m, n) AR 1A mxn (4 1 RS

(51241  GIEJLA4 1 AERE.

EXAMP02004

B4 1 AR FE,

Clear Command Window.
(ERR A2 E )

>>clc

o° o

Clear variables in workspace.
(B LA 2R A Hh A )

>> clear

o
o
o
o

Create a 3-by-3 matrix containing pseudo-random values
drawn from a normal distribution with mean zero and
standard deviation one by the function "randn".
(BB randn "6 3x3 fEREERE)

>> A=randn (3)

A =

2.7694 0.7254 -0.2050

-1.3499 -0.0631 -0.1241

3.0349 0.7147 1.4897

Create a scalar 1 by "ones".

(fEBh R % ones " QI —Mr i)

>> onel=ones

o0 o° o° o°

o
o
o
o

onel = 1
Create a 5-by-5 matrix of ones by "ones".
(B A "ones " B — A 5x5 44 1 HifE)

>> oneb=ones (5)

o
°
o
°

oneb5 =

e
e
e e
=
[ = T =

1 1 1
Create a 2-by-7 matrix of ones by "ones".
(f5 B ones " QIEE 2 47 7 FIA4s 1 HERE)

>> one27=ones (2,7)

o
°
o
°

one27 =
1 1 1 1 1 1 1
1 1 1 1 1 1 1

Create a 3-by-6-by-3 array of ones by "ones".
(fEBh %L ones " Bl 317 6 41l 3 B4 1 #4l)

>> one363=ones (3,6, 3)

one363(:,:,1) =

o
°
o
°




sk

w2
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1 1 1
1 1 1
1 1 1
one363(:,:,2) =
1 1 1
1 1 1
1 1 1
one363(:,:,3) =
1 1 1
1 1 1
1 1 1

o
o
o
o

1
1
1

1
1
1

1
1
1

Create a matrix of ones as the same size of A.
(B S AEFE A FATEUR BB 4 1 FERE)

>> oneA=ones (size (A))

oneA =

1
1
1

3. B{I%ERE
BT AR R R A 2 IR 2.3,

#*23 eye B

B & i TV Bk R
eye ESD RS ! eye(m, n) FEJ AN mxn (0 SRS R P
eye(n) AR 1A mxn [ AN eye(size(A)) A1 AR A —FF RN R A7 AE RE
(65125 Qg LA A7 RE R
EXAMP02005
B LA B R

o0 oo

Clear Command Window.

(B AL &)

>>clc

o
©
o
©

Clear variables in workspace.

(I B A2 ) AR )

>> clear

o
©
o
©
o
©

Create a 3-by-3 matrix containing pseudo-random values drawn from

a normal distribution with mean zero and standard deviation one.

(B 3x3 AR, HFEITRAAIE

>> A=randn (3)

A

o0 oo

-0.4326 0.2877
-1.6656 -1.1465
0.1253 1.1909

Create a unit scalar by "eye"

1.1892
-0.0376
0.3273

(fiiBhmeye " B LA AL AR )

>> eyel=eye

iy
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eyel =

% Create a 2-by-2 identity matrix by "eye".
s (fEBhreye" RAOIE—A> 2x2 [ HALHLEE)
>> eyel2=eye (2)

eye2 =
1
0

% Create a 3-by-5 identity matrix by "eye".

o

(f B eye " BELQIEE 3x5 KX A AL RERE)

>> eye35=eye(3,5)

eye35 =

1
0
0

0 0 0
0 0 0
1 0 0

% Create an identity matrix as the same size of A.
S (BUESHFE A IR (1 SR R )

>> eyeA=eye (size (A))

eyeA =
1
0
0

4. FEHEEFESE AR £
MATLAB " rand BEUE =45 0 3] 1 IBENLEL sRBULA T2 W3 2.4,

X 24 rand B

B’ % i I
rand A1 AL
rand(n) AR A nxn BERLECRERE
rand(m, n) FERC T AN mxn BEALECE B

rand(m, n, p)

R 1A mxnxp BEHLECEAL

rand(size(A))

AERC T ANFFERE A TR RCST (0 BE AT B

rand(method, s)

Hid “method” H5EMAERBEHLE I X T, “method” 4 LA T =Fik#, %4 “state”
“seed” Fll“twister”, 1M s JEbREAEEL, WAETEE M 0 3] 27321, “state” Xf W IAE VI A [24(-53),
1-27(-53)], AT 271492 IRA A ATREE R — IR “seed” AN HUE W [1/27231-1),
1-1/2°31-1)], FIWI 2731-2; “twister” X M EUETE I [27(-53), 1-27(-53)], JEMIA(2719937-1)/2

(51 2.6]

QI LA B .

EXAMP02006

JH I rand PRZLEN A JLANBENUATRE

% Clear Command Window.

o°

>>clc

o°

(B2

)

Clear variables in workspace.

& (ERR AR R AR
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>> clear

o
°
o
°

>> rand
ans =
0.2311

o
°
o
°

>> rand(3)

ans =
0.6068
0.4860
0.8913

o
°
o
°

ans =
0.7919
0.9218
0.7382

o
°
o
°

0.7621
0.4565
0.0185

0.1763
0.4057
00,9355

>> rand(3,5,2)

ans(:,:,1)
0.1987
0.6038
0.2722

ans(:,:,2)
0.0196
0.6813
0.3795

o
°
o
°

A =
8 1
3 5
4 9

0% o° oo

0.1988
0.0153
0.7468

0.8318
0.5028
0.7095

6
7
2

>> rand(size (A))

ans =
0.3784
0.8600
0.8537

0% o° oo

0.5936
0.4966
0.8998

a 5-by-5 matrix.
(B —A 5x5 BIBENLAERE, HFFCRIEXTR (5, 99])

the same size of A.

(Bl — A EHERE A 7T MBEHLAHERE)

>> B=5+(99-5) *rand (5)

B =

0.8214
0.4447
0.6154

0.9169
0.4103
0.8936

0.4451
0.9318
0.4660

0.4289
0.3046
0.1897

0.8216
0.6449
0.8180

0.
0.
0.
Create a 3-by-5-by-2 double precision pseudo-random array.

(BUEE—AN 3x5x2 HIFEHLECE L)

0579
3529
8132

0.4186

.8462

0.5252

0.
0.
0.
Create a 3-by-3 magical matrix.
(B —A 3x3 MIBEAFERE)

>> A=magic (3)

1934
6822
3028

Generate uniform values from the interval

Create a double precision pseudo-random number.

(PP AR R )

Create a 3-by-3 double precision pseudo-random matrix.

(B4 3x3 [HIBEYLEAERE)

Create a 3-by-5 double precision pseudo-random matrix.

(BIEE—A> 3x5 [KIBEHLEAERE)

>> rand (3, 5)

0.0099
0.1389
0.2028

0.2026
0.6721
0.8381

0.5417
0.1509
0.6979

[5,

Create a matrix with double precision pseudo-random numbers as

to construct
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33.1993 95.9007 91.1195 92.2779 65.3216
96.5908 84.4530 97.7124 14.3555 40.0986
27.7735 8.3009 77.9867 74.8394 57.2399
84.6939 23.3938 85.9498 17.0268 41.4749
14.6084 77.0194 65.6323 40.1215 65.1922
Generate an integer array with 50 elements ranging from 1 to 100.
== 50 NI HENIHEA, TTHEBEYLAE 1 $] 100 1)
>> C=ceil (100*rand(1,50))
C =

Columns 1 through 14

8 31 68 93 5 43 54 59 41 57 97 50 61 39

Columns 15 through 28

73 4 52 99 9 96 69 44 50 89 35 12 94 81

Columns 29 through 42

45 18 58 81 71 1 97 80 52 7 60 41 92 45

Columns 43 through 50

83 47 65 82 95 69 32 78

o
o
o
o

QUEREHUALFE, SR my ny B p WAZSEAEGOES, WEREA K2 T8 E, #5440
SUSEEN

5. IEZ5 0 BIBEALAE PR AR £
MATLAB $¢f}t randn s 800 T A IES M KBNS, FLRAHES N 2.5,

% 2.5 randn E&#

& & i:: I
randn A REZS A IR BN LB Obs
randn(n) A8 1A nxn RS2 R BEH LA R
randn(m, n) AR 1A mxn IEZS S AT BIBEALAE B
randn(m, n, p) AR 1A mxnxp TEZS S A B
randn(size(A)) Az 1 AN EHERE A TR R RO IEZS 53 AR BN LA R

(51271 GUEJLAIES AT BEHLAFE .

EXAMP02007

83T randn BR AN JLAN 1IE AR 20 A BEH LA
Clear Command Window.
Gk &5 1)

>>clc

o0 o

% Clear variables in workspace.

S (HER ARSI A )

>> clear

% Generate a double precision random number.
& OV XURE BERENLED

>> randn
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-29.

ans =
0.7258
% Generate a 3-by-3 double precision random matrix.
S (QIE—AS 3x3 IEAR A IBEHLAERE)
>> randn (3)
ans =
-0.5883 0.1139 -0.0956
2.1832 1.0668 -0.8323
-0.1364 0.0593 0.2944
Generate a 2-by-3 double precision random matrix.
(BUEE—A 2x3 TERIM 0 I BEHLURERE)
>> randn (2, 3)
ans =
-1.3362 1.6236 0.8580
0.7143 -0.6918 1.2540

o° o°

% Generate a 2-by-5-by-2 double precision random array.
S (B 2x5x2 MIEA A BEHLEA])
>> randn (2,5,2)
ans(:,:,1) =
-1.5937 0.5711 0.6900 0.7119 0.6686
-1.4410 -0.3999 0.8156 1.2902 1.1908
ans(:,:,2) =
-1.2025 -0.1567 0.2573 1.4151 0.5287
-0.0198 -1.6041 -1.0565 -0.8051 0.2193
Produce a 3-by-3 Hilbert matrix.
(RIS 3x3 A RAAFERERE )
>> A=hilb (3)
A =
1.0000 0.5000 0.3333
0.5000 0.3333 0.2500
0.3333 0.2500 0.2000

Generate a double precision random matrix as

o0 oe

the same size of A matrix.

CCERC A5 HERE A [ RSF W IEZS 20 A0 BEHLALRE)
>> randn (size (A))

ans =

-0.9219 -1.0106 1.6924

-2.1707 0.6145 0.5913

-0.0592 0.5077 -0.6436

Generate a double precision random matrix with mean 1 and

o° o° o°

standard deviation 2.
CEB— A ESMIEH 25 ATCROTHA, WHALPIMY 1, FlE2EN 2)
>> 1+2*randn (1,25)

ans =

o° o° o°

Columns 1 through 8

1.7607 -1.0182 0.9610 0.9036 1.0001 0.3643 3.1900 -2.7480
Columns 9 through 16

1.8564 2.7913 2.4619 2.1557 1.0806 2.3542 2.1378 0.4887
Columns 17 through 24

0.2451 0.4082 -1.9503 0.5320 1.2369 1.6296 3.8870 0.2981
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Column 25
2.2465

1R
ZPA L randn PEIAKIZE my ny M p NAZONARTUCREL, WRA N 2 SO B, R 4%
0 Kb,

T SRS GO 2 LAt R A SO, W CAfE B MATLAB H“help ” i 2% 4 : “vander ™.
“hilb”. “invhilb”. “magic” 1 “compan” %R EHAT .
[512.8Y AU JLAMRRARFE FE

EXAMP02008

A LA IRHAIFE .

% Generate a Vandermonde matrix following vector V=[1 2 3 4 5].
S (g 5x5 USRI RE)
>> vander ([1 2 3 4 5])

ans =
1 1 1 1 1
16 8 4 2 1
81 27 9 3 1
256 64 16 4 1
625 125 25 5 1

Generate a 3-by-3 Hilbert matrix.
(ERE—AN 3x3 A /RAARFAERE)
>> hilb (3)
ans =
1.0000 0.5000 0.3333
0.5000 0.3333 0.2500
0.3333 0.2500 0.2000
Generate a 3-by-3 inverse Hilbert matrix.
(FER—AS 3x3 WA SRAFAFFERE)
>> invhilb (3)
ans =
9 -36 30
-36 192 -180
30 -180 180
Generate a 5-by-5 magic matrix.
(LER—AS 5x5 BEARMF)

>> magic (5)

o
o
o
o

o
o
o
o

o
o
o
o

ans =
17 24 1 8 15
23 5 7 14 16
4 6 13 20 22
10 12 19 21 3
11 18 25 2 9

Generate a company matrix of the polynomial x"5+ 2*x"4+ 3*x"3+
4*x"2+ 5*x+6.

(AR IR x~5+2%x " 4+3%x"3+4%x~2+5%x+6 [FIF1 AR )

0% o oo
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>> compan ([l 2 3 4 5 6])

ans =
=2 =3 -4 =8 -6
1 0 0 0 0
0 1 0 0 0
0 0 1 0 0
0 0 0 1 0

2.2 MBEBTIE

221 FBERMHS

G BT S MEAREUR AR i T YR 7 A . R EAT DY S S5 4 AN
MNERERT S, MR R RA TR AT SUNMINRE, B SRR EA 5 A R 1
ANEETES, BT CAERATT T LU Bh BT A R R 1 Ay 2 R B AL . RE R RS — AN B A
[ AbE, FEFEE e, Bolnr Ll 4k, i “EXAMP02005” Al “EXAMP02006”
HAE T IE AL “ Array 7. FEMIRATTPEEAS TR IX — P A TIRAGT IR o WIS 0 AT AT
MR SASATBER], 152 MATLAB KA 35 B ar 2 “help” SEHATIRANE 2

222 XEER®ES
1. B “:” &5

H 575/ MATLAB "Hoi i IR 52—, EAMBEAIKRS I dsin. MRS
JLER, 1 H AT BUR e R G R 4l .
(51291 EEHES “:” QLA

EXAMP02009
HENE S “: 7 fFS el LAl

% Generate a vector A=[1 2 3 4 5 6 7 8 9 10] by colon operator.
s (EHMESAE—-ANKERA=[12 345678 9 10])

>> A=1:10

A=1 2 3 4 5 6 7 8 9 10

% Generate a vector ranging from 1 to 20 with step-length 2.

& (ER—ANRE, TENMNLE 20, BKH2)

>> B=1:2:20

= 1 3 5 7 9 11 13 15 17 19

% Generate a vector ranging from 100 to 20 with step-length 9.
s (ER—NRE, JGEM 100 2] 20, HKHK-9) .

>> C=100:-9:20

C = 100 91 82 73 64 55 46 37 28

w

2. linspace & £§

linspace PREIR R AR S Z2 508 a4, B S AN R 2 L3R 2.6,
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% 2.6 linspace &

E % W’
linspace(x1, x2) FEM X1 3 x2 XA Y BIEE S AT 100 AN TG EE 055 2501
linspace(x1, x2, n) M X1 B x2 X ) B S A7 0 AT 2 22 58

[5)2.10) @il linsapce PRELEIEE LN EZEET) .

EXAMP02010

83T linspace FRELGIEE JLANTE 2

Generate a vector of 100 linearly equally spaced points
in the region [5,9].
(CEM—AE 100 NTRMAKE, JTTHRERHM 5 B o XIS ZEHH)

>> linspace (5,9)

o0 o° oe

ans =
Columns 1 through 8 ...
5.0000 5.0404 5.0808 5.1212 5.1616 5.2020 5.2424 5.2828 ...
Columns 89 through 96
8.5556 8.5960 8.6364 8.6768 8.7172 8.7576 8.7980 8.8384
Columns 97 through 100
8.8788 8.9192 8.9596 9.0000

Generate a vector of 9 linearly equally spaced points

in closed internal [11,99].

CES A 9 NMTCRRE, JLEN 11 2 99 KIAIMAEZEES)
>> linspace(11,99,9)
ans = 11 22 33 44 55 66 77 88 99

o0 o° o°

3. logspace %]
logspace PRECH KB Fr 855 24081, HiBk5iAZ K 2.7,

% 2.7 logspace ]

B & R
logspace(x1, x2) TEM 107x1 2] 107x2 X [i] Py A2 5 50 AN 08 S = 50 It 5=
logspace(x1, x2, ) EM 107x1 3 107x2 XA N A2l n MRECH S 255010 T %

[6)2.11) it pR 2L logspace A1) JLAN AL

EXAMP02011

T8 3 PR logspace B JL44H .

% Set all numbers with long format.

S (WREFTHEEN long #30)

>> format long

% Generate a vector of 50 logarithmically equally spaced points
% between 1072 and 1079.




H2F sEM, o, K5l - 33

& (f£1072 3] 1079 X[AER N 50 MITRAISHEEELAL)
>> logspace(2,9)
ans =
1.0e+09 *
Columns 1 through 3....
0.000000100000000 0.000000138949549 0.000000193069773......
Columns 48 through 50
0.517947467923122 0.719685673001153 1.000000000000000
Generate a vector of 8 logarithmically equally spaced points
between 10 and 1079.
(FE 10 £ 1079 IX[H], RE 8 DMITHRIINHEEZHA])
>> logspace(1,9,38)

o0 o° o°

ans =
1.0e+009 *
Columns 1 through 4
0.00000001000000,0.00000013894955,0.00000193069773,0.00002682695795
Columns 5 through 8
0.00037275937203,0.00517947467923,0.07196856730012,1.00000000000000
Generate a vector of 4 logarithmically equally spaced points
between 1070.01 and pi.
(f£1070.01 ¥ pi i), A% 4 DICER M EEF 254
>> logspace (0.01,pi, 4)

o o° o°

ans =
1.02329299228075, 1.48724764838776, 2.16155644993225, 3.14159265358979
% Reset the format of number as short.

s (EFEmMALRE N short #X)

>> format short

4. ETEAEMSEANELKA

FERLEEDLR, C4E L 2ERRr sl . R QI B I P e R sl 2 e AE
TR B A7 A, BATAT U B IX L8 CAT AR PR O UK G i B0 St . iRt
TgeRpl.

(61212 e AT R oE A A B A

EXAMP02012

FeT O A H B B A A R A A
Clear Command Window.
(BT &E& H)

>>clc

o° oP°

Clear variables in workspace.
(R AR ) v A )

>> clear

Generate a 5-by-5 Hilbert matrix.
(FERE—AN 5x5 A /RAARFARE)

>> A=hilb (5)

A =

o
o
o
o

o
o
o
o
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1.0000 0.5000 0.3333 0.2500 0.2000
0.5000 0.3333 0.2500 0.2000 0.1667
0.3333 0.2500 0.2000 0.1667 0.1429
0.2500 0.2000 0.1667 0.1429 0.1250
0.2000 0.1667 0.1429 0.1250 0.1111

% Define an array (or vector) B with all elements of

% the predefined matrix A.

s (B SR A RITER, B AEE R R, dh B)

>> B=A(:)

B =

.0000

.5000

.3333

.2500

.2000

.5000

.3333

.2500

.2000

.1667

.3333

.2500

.2000

.1667

.1429

.2500

.2000

.1667

.1429

.1250

.2000

.1667

.1429

.1250

0.1111

Define an array (or vector) C with elements in the predefined
matrix A from the first to the last with step-length 4.
(fEB 5 SERE A, B A ERE, WA C)

>> C=A([1:4:25])

C =

1.0000 0.2000 0.2000 0.2000 0.2000 0.2000 0.1111
Define an array (or vector) D with all elements in the first

O O O O O O O O O O O O O O O O o o o o o o o

0% o° oo

column of predefined matrix A.

(fEBh e SRR B, 8 XA ER R, Wl D, REARFEE—5)
>> D=A(:,1)

D =

0% o° oo

.0000
.5000
.3333
.2500
.2000

o O O O =
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Define an array (or matrix) E with all elements in the first
and forth columns in the predefined matrix A.

(5B e SUERE B, B X— B ER R, Wb E, RS ARSI 55 41)
>> E=A(:,[1:3:5])

0% o° oo

E =
1.0000 0.2500
0.5000 0.2000
0.3333 0.1667
0.2500 0.1429
0.2000 0.1250

Define an array (or matrix) F with some special elements in
the matrix A.

(GET OB SGERE B, B XA SR, Wb P, REAHSFRETE)
>> F=A([1,3,5],[2,4])

0% o° oo

F =
0.5000 0.2500
0.2500 0.1667
0.1667 0.1250
% Defined an array (or scalar) G with the special element in
% the matrix A.
S (M CE AERE A PR TCER, WA — A FEE ER R, dh 6)
>> G=A(1,5)
G = 0.2000
% Create a matrix H with all elements of C and 99.
S (BUEE—AMERE H, SHEMFE C M 99)
>>H=[C, 99]
H=

1.0000 0.2000 0.2000 0.2000 0.2000 0.2000 O0.1111 99

2.3 FEMEHAMNIEERIE

AAVRERFERE . BB F AT, YIRS, WA RIRH s A s 5
N T ARIEAN R R DA T A NAS SE, ANTRES AR IZ T 5 MO RIe AT 5 AT A . fEXTiE
SRS AT AT R R, A AR RS LK 2.8,

*28 BHLE

T B # 7k T B ok
) ) ) HkBxmBEM, XA H-A-9 (Fw
pi [ 5 e w0 (R B date
17-sep-15)
realmin 5/ E S eps WL FEIEH
realmax I KIESE5L ans VA2 R BRI S A =
bitmax T K IF 24 nargin PR NS B
Lo EEA nargout BRE S HAN S
inf, Inf T3 K lasterr AL H R A R
nan, NaN 1244 lastwarn YR e T Ik g P
WRBoR 6 ANTTE, A, AL B
clock
N U




MATLAB &2 a5 m A (% 2 M)

#29 ERAES

5

o TE AR R

BN S P AT

FREE bR S HL

FRiE 77

FHKIX 23 T bR e G2

1) 7] A4 2 s 54 4L
(2> Wi TFHEFEAT s
(3) WiJF MATLAB H{{#UTIER], F£xb—

AR,

EiE el Nl

%

BRI ARRE A A

T 04

IR

RS

e, Bk

ik

B

Kl bR

Filk

el

A ofeTs

HorTs, HMEsRTT

FEREAIEL R R, SRS

Bk, AR EATHARARAT

HOL R

Lk

Z L3 2.10.

F£210 ERHIE

EH

iy
B4

fein

R

ar
>z

=
=3

i ]

56

cd

ZR SR AR F %

pack

AR AP

cle

T
Hi %
>
>
=
O

path

BRI RH R

clear

_\}

AR AL i

oy
e

quit

B MATLAB

clf

T
Ht
=
w
B}
O

save

TRAT AT AZ

diary

type

BRI

dir

what

B H4 P AE H 3% MATLAB A

disp

En | ko m
Sl
M

which

SEAT MATLAB SCPEff 645

echo

¢ %
=}

who

H AR A R A

hold

whos

PRSI TAR S R ) 2 i

load

IR S AR

b A s ok i S iR S W 2,11,




-

KL =

$2F M, KA, FTEH © 37
#2111 HHUEETEA®S
T B iR
NEU RS 4 AR, REAEE T AR WREMER T 1000, A4 AL
format short
TR
format long 15 A5 FERoR
format short e 5 pERE VSRR R
format long e 15 frRHET LR R

format short g

M format short Fl format short e W' [ B3 L I BUE R - 51

format long g

M\ format long FI format long e " | Bk F e AE (1 BUE R R i

format rat K HBE A BECk R R

format hex R WAviaiIESTN

format + . R Rk ORI 0N, SRR ROR
format bank SRR, 6L .

format compact

R AT

format loose

WA 2 (A T

EE:
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R G B — MR AT IS AR AR
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